

for every pair a, b of positive numbers linearly independent over the field generated by A, i.e. the field of rational numbers. Suppose now that $b \rightarrow a$, a, b being linearly independent. Then, by (i) and (15), the family $\{v_{ab}\}$ is conditionally compact. Let ν be its cluster point. Then by (15)

$$(29) \qquad (\delta_a \mu) * (\delta_a \mu) = \mu \nu$$

and, by (28),

$$\nu(\{0\}) \geqslant \mu(\{1\})$$
.

Since $A = \{-1, 1\}$, we get, by virtue of (29), the relation

$$2\mu(\{1\})^2 = (\delta_a \mu) * (\delta_a \mu)(\{0\}) = (\mu \nu)(\{0\}) = \nu(\{0\}) \geqslant \mu(\{1\}).$$

Thus $\mu(\{1\}) \ge 1/2$. Since $\mu(\{-1\}) = \mu(\{1\})$ and $\mu(\{-1\}) + \mu(\{1\}) \le 1$, we have $\mu(\{1\}) = \mu(\{-1\}) = 1/2$ and, consequently, $\mu = \frac{1}{2}(\delta_1 + \delta_{-1})$ which completes the proof.

References

- [1] W. Feller, An introduction to probability theory and its applications, Vol. II John Wiley and Sons, Inc. New York, London, Sydney 1966.
- [2] B. Ya. Levin, The distribution of zeros of entire functions, G.I.T.T.L., Moscow 1956 (in Russian).
- [3] Yu. V. Linnik and J. V. Ostrovskii, Decompositions of random variables and vectors, Nauka, Moscow 1972.
- [4] E. Lukacs, Characteristic functions, Charles Griffin, London 1960.
- [5] K. Urbanik, Generalized convolutions, Studia Math. 23 (1964), 217-245.
- [6] Remarks on B-stable probability distributions, Bull. Acad. Polon. Sci. Sér. Sci. Math. Astronom. Phys. 24 (1976), 783-787.

WROCŁAW UNIVERSITY

Received March 5, 1982 (1741)

Non-Leibniz algebras

by

D. PRZEWORSKA-ROLEWICZ (Warszawa)

Dedicated to Professor J. Mikusiński on the 70th birthday

Abstract. We consider algebras with right invertible operators in the case when the Leibniz condition

(L)
$$D(xy) = xDy + yDx$$
 for $x, y \in \text{dom } D$

(provided that $xy \in \text{dom}\,D$) is not satisfied. In particular, it is shown that in a large class of non-Leibniz algebras all initial operators are averaging.

We shall consider algebras with right invertible operators in the non-Leibniz case, i.e., in the case where the condition

(L)
$$D(xy) = xDy + yDx$$
 for $x, y \in \text{dom } D$

is not satisfied (provided that $xy \in \text{dom } D$).

Some particular cases have been studied by Dudek [1] and by the author and von Trotha (cf. [3], [4], [9]).

In [5], [6], [7] we have shown that the Green formula, the Euler–Lagrange equation and the P cone identity hold in the general non-Leibniz case. In [8] there was given a classification of non-Leibniz algebras. A large class of algebras which are in a sense "close" to Leibniz case has been distinguished. Properties of right invertible operators and their inverses in these algebras, in particular, Wroński theorems have been studied.

1. Preliminaries. Let X be a linear space over a field \mathscr{F} of scalars. Let L(X) be the set of all linear operators A such that the domain of A (denoted by $\operatorname{dom} A$) is a linear subset of X and $AX \subset X$. In particular, we write: $L_0(X) = \{A \in L(X) \colon \operatorname{dom} A = X\}$. Let R(X) be the set of all right invertible operators belonging to L(X). For a given $D \in R(X)$ we denote by $\mathscr{B}_D = \{R_\gamma\}_{\gamma \in \Gamma}$ the set of all right inverses of D. We shall assume that $R_\gamma \in L_0(X)$ for $\gamma \in \Gamma$. Here and in the sequel we shall assume also that $\dim \ker D > 0$, i.e., D is right invertible but not left invertible. Any element of $\ker D$ is a constant for D. By definition, F is an initial operator for D if is a projection onto $\ker D$ such that FR = 0 for a right inverse R.

This implies that F is an initial operator if and only if there is a right inverse R such that F = I - RD on dom D.

One can also prove (cf. for instance [3]) that any projection F onto $\ker D$ is an initial operator for D corresponding to a right inverse $R=R_0-FR_0$ and that the definition of R does not depend on the choice of the right inverse R_0 .

2. Integration in *D*-algebras. Let X be a commutative algebra over \mathscr{F} (i.e., a commutative linear ring over \mathscr{F}) and let $D \in R(X)$. X is said to be a *D*-algebra if the following condition is satisfied:

$$(2.1) x \in \text{dom } D \text{and} y \in \text{dom } D \text{implies} xy \in \text{dom } D$$

i.e., if the domain of D is a sub-algebra of X. Here and in the sequel we shall assume that X is a D-algebra. Write:

$$(2.2) \quad f_D(x,y) = D(xy) - c_D(xDy + yDx) \quad \text{ for all } x,y \in \text{dom}\,D$$
 where

- (1) c_D is a scalar dependent on D only;
- (2) f_D : $\text{dom} D \times \text{dom} D \to \text{dom} D$ is a bilinear and symmetric mapping dependent on D only, i.e.,

$$(2.3) f_D(y, x) = f_D(x, y) \text{for all } x, y \in \text{dom } D.$$

Using the notation (2.2) we can write

(2.4)
$$D(xy) = c_D(xDy + yDx) + f_D(x, y) \quad \text{for} \quad x, y \in \text{dom } D.$$

The bilinear operator f_D will be called a *non-Leibniz* component. Non-Lebniz components for powers of D are determined by the following recursion formulae (proof by induction):

$$f_D^{(0)} = 0, \quad f_D^{(1)} = f_D \quad ext{ and for } k = 2, 3, ..., \ x, y \in \mathrm{dom} D^k$$

$$(2.5) \quad f_D^{(k)}(x,y) = c_D^k[(Dx)(D^{k-1}y) + (D^{k-1}x)(Dy)] + c_D^{k-1}[f_D(x,D^{k-1}y) + f_D(D^{k-1}x,y)] + Df_D^{(k-1)}(x,y)$$

or in another (equivalent) form:

$$(2.5') f_{D}^{(k)}(x,y) = c_D^k[(Dx)(D^{k-1}y) + (D^{k-1}x)(Dy)] + c_D[f^{(k-1)}(x,Dy) + f^{(k-1)}(Dx,y)] + D^{k-1}f_D(x,y).$$

Similar formulae hold for a superposition of right invertible operators. For an arbitrary scalar $p \neq 0$ we have $c_{nD} = c_D$, $f_{nD} = pf_D$.

Other properties of non-Leibniz components and several examples of D-algebras can be found in [6] (cf. also [5]). Without loss of generality we can assume here and in the sequel that $c_D \neq 0$ (cf. Example 1.8 in [6]). An extension of a D-algebra over R to a D-algebra over the field C of complexes can be made in a standard way (cf. [5]).

THEOREM 2.1 (Generalized integration by parts formula*). Let X be a D-algebra and let F be an initial operator for D corresponding to a right inverse R. Then for all $x, y \in \text{dom} D$ and for any positive integer n the following formula holds:

(2.6)
$$R^{n}(xy) = c_{D}^{-n}xR^{n}y -$$

$$- \sum_{i=1}^{n} c_{D}^{-j}R^{n-j} \{c_{D}R[(Dx)R^{j}y] + F(xR^{j}y) + Rf_{D}(x, R^{j}y)\}.$$

Proof. Let $x, y \in \text{dom} D$. Write u = Ry. Then $u \in \text{dom} D$, and formula (2.4) implies that $xDu = c_D^{-1}D(xu) - uDx - c_D^{-1}f_D(x, u)$. Since RD = I - F and y = Du, acting on both sides of this equality by the operator R we obtain

(2.7)
$$R(xy) = R(xDu) = c_D^{-1}RD(xu) - R(uDx) - c_D^{-1}Rf_D(x, u)$$
$$= c_D^{-1}[xu - R(uDx) - F(xu) - Rf_D(x, u)]$$
$$= c_D^{-1}xRy - R[(Dx)(Ry)] - c_D^{-1}F(xRy) - c_D^{-1}Rf_D(x, Ry),$$

which proves formula (2.6) for n = 1.

Suppose now formula (2.6) to be true for an arbitrary fixed n > 1. Then

$$\begin{split} &(2.8) \quad R^{n+1}(xy) = R\left[R^n(xy)\right] \\ &= c_D^{-n} R(xR^ny) - \sum_{j=1}^n c_D^{-j} R^{n+1-j} \{c_D R\left[(Dx)R^jy\right] + F(xR^jy) + Rf_D(x,\,R^jy)\} \\ &= c_D^{-(n+1)} x R^{n+1}y - c_D^{-n} R\left[(Dx)(R^{n+1}y)\right] - c_D^{-(n+1)} F(xR^{n+1}y) - \\ &- c_D^{-(n+1)} Rf_D(x,\,R^{n+1}y) - \sum_{j=1}^n c_D^{-j} R^{n+1-j} \{c_D R\left[(Dx)R^jy\right] + F(xR^jy) + Rf_D(x,\,R^jy)\} \\ &= c_D^{-(n+1)} x R^{n+1}y - \sum_{j=1}^{n+1} c_D^{-j} R^{n+1-j} \{c_D R\left[(Dx)(R^jy)\right] + F(xR^jy) + Rf_D(x,\,R^jy)]\}, \end{split}$$

which proves formula (2.6) for n+1.

Corolliary 2.1. Suppose that all assumptions of Theorem 2.1 are satisfied.

(a) If $z \in \ker D$, $x \in \text{dom } D$ then

$$(2.9) \qquad R^{n}(zx) = c_{D}^{-n}zR^{n}x - \sum_{j=1}^{n}c_{D}^{-j}R^{n-j}[F(zR^{j}x) + Rf_{D}(z, R^{j}x)].$$

^{*} This formula and formulae (2.9), (2.10), (2.11), (2.12) in the Leibniz case have been proved by H. von Trotha.

(b) If X has a unit $e, z \in \ker D$ and $x \in \operatorname{dom} D$ then

$$(2.10) \ \ R^n x = e_D^{-n} x R^n e - \sum_{j=1}^n e_D^{-j} R^{n-j} \{ e_D R [(Dx) R^j e] + F(x R^j e) + f_D(x, R^j e) \},$$

(2.11)
$$R^{n}z = c_{D}^{-n}zR^{n}e - \sum_{j=1}^{n} c_{D}^{-j}R^{n-j}[F(zR^{j}e) + Rf_{D}(z, R^{j}e)].$$

(c) If X has a unit e then the remainder in the Taylor Formula is of the form

$$(2.12) R^{n}D^{n}x = c_{D}^{-n}(D^{n}x)R^{n}e -$$

$$- \sum_{j=1}^{n} c_{D}^{-j}R^{n-j}\{c_{D}R[(D^{n+1}x)R^{j}e] + F[(D^{n}x)R^{j}y] + y + Rf_{D}(D^{n}x, R^{j}e)\}$$

provided that $x \in \text{dom } D^{n+1}$.

(d) If x has a unit e and F is multiplicative then for $x \in \text{dom } D$, $z \in \text{ker } D$

(2.13)
$$R^n x = c_D^{-n} x R^n e - \sum_{j=1}^n c_D^{-j} R^{n-j} \{ c_D R[(De) R^j e] + R f_D(x, R^j e) \},$$

(2.14)
$$R^{n}z = e_{D}^{-n}zR^{n}e - \sum_{j=1}^{n} e_{D}^{j}R^{n+1-j}f_{D}(z, R^{j}e).$$

Proof. In order to prove formula (2.9) observe that Dz = 0 and apply formula (2.6) for y = z. If X has a unit e then applying formula (2.6) for y = e we obtain (2.10) for xe = x. Applying formula (2.10) for $x = z \in \ker D$ we obtain (2.11). Write: $w = D^n x$, y = e. Then $Dw = D^{n+1} x$. Applying formula (2.10) to the element $w \in \operatorname{dom} D$, we obtain the required formula (2.12).

If F is multiplicative, we have FR = 0 by definition. Then $F(xR^je) = (Fx)(FR^je) = 0$ for j = 1, ..., n. This and formula (2.10) together imply (2.13). Applying (2.13) for $z \in \ker D$, we obtain (2.14).

Formulae (2.6)–(2.14) are, as a matter of fact, formulae of *integration* in D-algebras.

THEOREM 2.2. If X is a D-algebra, $x \in \text{dom } D$ and $n \geqslant 2$ is an arbitrary positive integer then $x^n \in \text{dom } D$ and

(2.15)
$$Dx^{n} = d_{n}x^{n-1} + \sum_{j=0}^{n-2} c_{D}^{j}x^{j}f_{D}(x, x^{n-1-j})$$

where

(2.16)
$$d_1 = 1;$$
 $d_2 = 2c_D;$ $d_n = 2c_D^{n-1} + \sum_{j=1}^{n-2} c_D^j$ for $n > 2$.

Proof. It is by induction (cf. [8]).

Corollary 2.2. If X is a D-algebra then, for all $x \in \text{dom}\, D^n, z \in \ker D$, $n \in \mathbb{N},$

(2.17)
$$D^{n}(xz) = c_{D}^{n}zD^{n}x + f_{D}^{(n)}(z, D^{n}x)$$

where $f_D^{(n)}$ are defined by formulae (2.5);

(2.18)
$$Dz^{n} = \sum_{j=1}^{n-2} o_{D}^{j} z^{j} f_{D}(z, z^{n-1-j}).$$

Indeed, since Dz = 0, we have $D^n(xz) = c_D^n(xD^nz + zD^nx) + f_D^{(n)}(z, D^nx) = c_D^n zD^nx + f_D^{(n)}(z, Dx)$. Also formula (2.15) implies (2.18).

COROLLARY 2.3. If X is a D-algebra with unit e then

$$(2.19) (1 - 2c_D)De = f_D(e, e),$$

$$(2.20) zD^n e = e_D^{-n} f_D^{(n)}(z, D^n e) for all z \in \ker D, n \in \mathbb{N}.$$

Indeed, if we put n=2, x=e in (2.15), then we have $De=De^{2\epsilon}=D(e\cdot e)=2e_DeDe+f_D(e,e)=2e_DDe+f_D(e,e)$, which implies (2.19). If we put x=e in (2.17), we find $0=D^nz=D^n(ez)=e^n_DzD^ne+f^{(n)}_D(z,D^ne)$ since Dz=0.

Formula (2.19) implies that the unit e is a constant if $f_D(e, e) = 0$.

3. Initial operators in *D*-algebras. In order to study some properties of initial operators in *D*-algebras we have to introduce some definitions.

Suppose that X is a commutative algebra. An operator $A \in L(X)$ is said to be averaging if

(3.1)
$$A(xAy) = (Ax)(Ay) \quad \text{for} \quad x, y \in \text{dom } A$$

 $A \in L(X)$ is said to be a Reynolds operator if

$$(3.2) A(xy) = A(xAy) + A[(x-Ax)(y-Ay)] \text{for} x, y \in \text{dom } A$$

(cf. [11]).

Suppose that X is a D-algebra and F is an initial operator for D. Then F is said to be almost averaging if

(3.3)
$$F(zx) = zFx \quad \text{for all } x \in X, \ z \in \ker D.$$

The last property is very useful and has been used in several applications (cf. [2]-[9]).

By definition, any multiplicative initial operator is almost averaging. Indeed, since Fz = z for $z \in \ker D$, we find that F(zw) = (Fz)(Fw) = zFw for $w \in X$.

The converse statement is not true, as several examples show.

THEOREM 3.1. Suppose that X is a D-algebra and F is an initial operator for D. Then the following conditions are equivalent:

- (i) F is almost averaging,
- (ii) I is averaging.

Proof. Suppose that F is averaging and $x \in X$, $z \in \ker D$ are arbitrary. Since F is a projection onto $\ker D$, there exist $y \in X$ such that Fy = z. Then condition (3.1) implies

$$F(zx) = F(xFy) = (Fx)(Fy) = zFx,$$

i.e., F is almost averaging. Conversely, suppose that F is almost averaging and x,y are arbitrary. Since $z=Fy\in\ker D$ and condition (3.3) holds, we have

$$F(xFy) = F(zx) = zFx = (Fx)(Fy),$$

i.e., F is averaging.

THEOREM 3.2. Suppose that X is a D-algebra with unit $e \in \ker D$ (over a field $\mathscr F$ of characteristic zero) and F is an almost averaging initial operator. Then

- (a) F is a Reynolds operator;
- (b) we have

(3.4)
$$Fz^n = z^n \quad \text{for all } z \in \ker D, \ n \in \mathbb{N};$$

- (c) any power of a constant is again a constant;
- (d) we have

$$(3.5) f_D(z,z) = 0 for all z \in \ker D.$$

Proof. By our assumption Fe = e. By Theorem 3.1 F is averaging. Any averaging operator in a commutative algebra with unit such that Ae = e is a Reynolds operator (cf. Rota, [11]). Since F is a Reynolds operator in a commutative algebra with unit (over a field of characteristic zero), the following identity holds:

(3.6)
$$nF[x(Fx)^{n-1}] = (n-1)F[(Fx)^n] + (Fx)^n$$
 for all $x \in X$, $n \in N$

(cf. also Rota, [11]). But $z = Fx \in \ker D$ and F is almost averaging. Then identity (3.6) can be rewritten as follows:

(3.7)
$$nF(xz^{n-1}) = (n-1)Fz^n + z^n \text{ for } n \in \mathbb{N}.$$

For n=2 we have $2z^2=2zFx=2F(xz)=Fz^2+z^2$, which implies that $Fz^2=z^2$ and z^2 is a constant for $Fz^2\in\ker D$. Suppose that $Fz^k=z^k$ for an arbitrary fixed $2< k\in N$. Then $z_k=Fz^k\in\ker D$

Since F is averaging and (3.7) holds, we find

$$(k+1)z^{k+1} = (k+1)z^k F w = (k+1)F(xz^k) = kFz^{k+1} + z^{k+1},$$

which implies $Fz^{k+1} = z^{k+1}$. Therefore $Fz^n = z^n$ for all $n \in \mathbb{N}$. Since $Fz^n \in \ker D$ for $n \in \mathbb{N}$, we conclude that any power of a constant is again a constant. Since $z^2 \in \ker D$ for any $z \in \ker D$, we conclude that

$$0 = Dz^2 = 2e_D z Dz + f_D(z, z) = f_D(z, z),$$

i.e., the non-Leibniz component f_D vanishes on constants.

4. Almost Leibniz algebras. A.D-algebra X is said to be almost Leibniz if

$$(4.1) f_D(x,z) = 0 \text{for all } x \in \text{dom } D, z \in \ker D.$$

The following D-algebras are almost Leibniz:

(1) Leibniz algebras since we have

$$D(xy) = xDy + yDx$$
 for $x, y \in \text{dom } D$.

Here $f_D = 1$.

(2) Quasi-Leibniz algebras since we have

$$D(xy) = xDy + yDx + d(Dx)(Dy)$$
 for $x, y \in \text{dom } D$

(where $d\neq 0$ is a given scalar dependent on D only). Hence $f_D(x,z)=d(Dx)(Dz)=0$ for $z\in\ker D$.

(3) Simple Duhamel algebras since we have

$$D(xy) = xDy$$
 for $x, y \in \text{dom } D$.

Indeed, the commutativity of multiplication in X implies that D(xy) = yDx. We therefore conclude that $D(xy) = \frac{1}{2}(xDy + yDx)$ for $x, y \in \text{dom } D$, which implies $f_D = 0$.

(4) Suppose that X is a Leibniz D-algebra.

Then, for an arbitrary positive integer n>1, X is an almost-Leibniz D^n -algebra. Indeed, the Leibniz condition implies that for $x,y\in \text{dom }D$

$$D^{n}(xy) = \sum_{k=0}^{n} \binom{n}{k} (D^{k}x)(D^{n-k}y) = xD^{n}y + yD^{n}x + \sum_{k=1}^{n-1} \binom{n}{k} (D^{k}x)(D^{n-k}y).$$

Hence

$$f_{D^n}(x,z) = \sum_{k=1}^{n-1} \binom{n}{k} (D^k x) (D^{n-k} z) = 0$$
 for $z \in \ker D$

(cf. also Examples 1.1-1.8 in [6]).

THEOREM 4.1. Suppose that X is an almost Leibniz D-algebra. Then

(4.2) $f_D^{(n)}(x,z) = 0$ for all $x \in \text{dom } D$, $z \in \text{ker } D$ (n = 1, 2, ...). Proof. It is by induction (cf. [8]).

COROLLARY 4.1. Suppose that X is an almost Leibniz D-algebra. Then

(4.3)
$$D^{n}(xz) = c_{D}^{n} z D^{n} x$$
 for all $x \in \text{dom } D^{n}$, $z \in \text{ker } D$ $(n = 1, 2, ...)$,

$$(4.4) z \in \ker D implies z^n \in \ker D for n = 1, 2, ...,$$

i.e., a power of a constant is again a constant. If X has a unit e and

(4.5)
$$zD^n e = 0$$
 for all $z \in \ker D$ $(n = 1, 2, ...)$.

Indeed, formulae (4.2) and (2.17) imply (4.3). Formula (4.2) and condition (4.1) imply that $Dz^n = 0$. Hence $z^n \in \ker D$ (n = 1, 2, ...) and z^n is a constant. Formulae (2.19) and (4.2) imply (4.5).

COROLLARY 4.2. If X is an almost Leibniz D-algebra with unit e and constants are not zero divisors then $e \in \ker D$, i.e., e is a constant and $c_D = 1$.

THEOREM 4.2. Suppose that X is an almost Leibniz D-algebra and F is an initial operator for D corresponding to a right inverse R. Then for $x,y\in \mathrm{dom}\, D$, $z\in \ker D$ and $n\in N$

$$\begin{split} R^n(xy) &= c_D^{-n} x R^n y - \sum_{j=1}^n c_D^{-j} R^{n-j} \{ c_D R \left[(Dx) R^j y \right] + \\ &+ F(x R^j y) - R f_D(x \,,\, R^j y) \}, \\ R^n(zx) &= c_D^{-n} z R^n x - \sum_{j=1}^n c_D^{-j} R^{n-j} F(z R^j x) \,. \end{split}$$

If X has a unit then

(4.7)
$$R^{n}z = c_{D}^{-n}zR^{n}e - \sum_{j=1}^{n} c_{D}^{-j}R^{n-j}F(zR^{j}e).$$

The proof immediately follows from our assumptions, Theorem 2.1 and Corollary 2.1.

THEOREM 4.3. Suppose that X is an almost Leibniz D-algebra. Then all initial operators for D are averaging.

Proof. Let F be an arbitrary fixed initial operator. Let $x \in X$ and $z \in \ker D$ be also arbitrary. By our assumption, $f_D(x,z) = 0$. By formula 4.7, since RD = I - F, we find

$$(4.8) F(xz) = xz - RD(xz) = xz - R[c_D(xDz + zDx) + f_D(xz)]$$

$$= xz - c_DR(zDx) = xz - zRDx - F(zRDx)$$

$$= xz - z(I - F)x - F[z(I - F)x]$$

$$= xz - xz + zFx - F(zx) + F(zFx).$$

which implies

$$(4.9) 2F(xz) = zFx + F(zFx) \text{for} x \in X, z \in \ker D.$$

Since $F^2 = F$, acting on both sides of this equality by the operator F we obtain

$$2F(xz) = 2F^{2}(xz) = F(zFx) + F^{2}(zFx) = 2F(zFx)$$

i.e.,

$$(4.10) F(xz) = F(zFx) \text{for} x \in X, z \in \ker D.$$

If we apply the last equality in (4.9) we get

$$2F(zFx) = 2F(xz) = zFx + F(zFx),$$

i.e.,

$$(4.11) H(zFw) = zFw for w \in X, z \in \ker D.$$

Equalities (4.10) and (4.11) together imply that

 $z \in \ker D$ and $n = 1, 2, \dots$ we have

$$(4.12) F(xz) = F(zFx) = zFx \text{for} x \in X, z \in \ker D,$$

i.e., F is almost averaging. By Theorem 3.1 we conclude that F is averaging. Note that Theorems 4.3 and 3.2 together imply that in almost Leibniz D-algebras a power of a constant is again\a constant, which gives another proof of formula (4.4).

COROLLARY 4.3. Suppose that X is an almost Leibniz D-algebra with unit e and F is an initial operator for D corresponding to a right inverse R. Then

(4.13)
$$F(zR^ne) = 0$$

(4.14) $R^nz = c_D^{-n}zR^ne$ for $z \in \ker D$ $(n = 1, 2, ...),$

(4.14) $R^n z = c_D^{-n} z R^n e$ Indeed, by our assumptions F satisfies (4.12) and FR = 0. Hence for

$$F(zR^ne) = zFR^ne = 0$$

and

$$R^n z = c_D^{-n} z R^n e - \sum_{j=1}^n c_D^{-j} R^{n-j} F(z R^j e) = c_D^{-n} z R^n e.$$

THEOREM 4.4 (Integration of unit formula). Suppose that X is an almost Leibniz D-algebra with unit e such that constants are not zero divisors. Suppose that X' is an initial operator for D corresponding to a right inverse R. Then

(4.15)
$$R^n e = \frac{(Re)^n}{d(n)} - \sum_{k=2}^n \frac{1}{d(k)} R^{n-k} F[(Re)^k] \quad (n = 1, 2, ...)$$

where we assume that

$$(4.16) d(n) = d_1 \dots d_n \neq 0 (n = 1, 2, \dots)$$

and d_1, \ldots, d_n are defined by formulae (2.16), i.e.,

$$(4.17) \ \ d_1 = 1, \quad \ d_2 = 2c_D, \quad \ d_n = 2c_D^{n-1} + \sum_{j=1}^{n-2} c_D^j \quad \ for \quad \ n \geqslant 3.$$

Proof. Observe that by our assumption $d_1 \neq 0$, $d_2 \neq 0$ and

$$d_{n+1} = c_D(d_n+1), \quad d(n+1) = d_{n+1}d(n), \ d(n) \neq 0 \quad (n = 1, 2, ...).$$

Our assumptions and Corollary 4.2 together imply that De = 0. Then e is a constant. Write: g = Re. Then Dg = DRe = e. Theorem 2.2 and our assumptions together imply that $Dg^n = d_n g^{n-1} Dg = d_n g^{n-1} e = d_n g^{n-1}$ (n = 1, 2, ...). Hence

$$g^n - Fg^n = (I - F)g^n = RDg^n = d_n Rg^{n-1}$$
 $(n = 2, 3, ...).$

Observe that $d(2)R^2e=d_2Rg=g^2-Fg^2=g^2-d_1Fg^2$. Suppose that for an arbitrarily fixed n>2 we have

$$R^n e = \frac{g^n}{d(n)} - \sum_{k=0}^n \frac{1}{d(k)} R^{n-k} F g^k.$$

Then

$$\begin{split} R^{n+1}e &= R(R^n e) = \frac{1}{d(n)} Rg^n - \sum_{k=2}^n \frac{1}{d(k)} R^{n+1-k} Fg^k \\ &= \frac{1}{d_{n+1} d(n)} (g^{n+1} - Fg^{n+1}) - \sum_{k=2}^n \frac{1}{d(k)} R^{n+1-k} Fg^k \\ &= \frac{1}{d(n+1)} g^{n+1} - \frac{1}{d(n+1)} Fg^{n+1} - \sum_{k=2}^n \frac{1}{d(k)} R^{n+1-k} Fg^k \\ &= \frac{g^{n+1}}{d(n+1)} - \sum_{k=2}^{n+1} \frac{1}{d(k)} R^{n+1-k} Fg^k, \end{split}$$

which was to be proved.

A Steller

In the Leibniz case this theorem was proved in [9]. The present proof is simpler. Note that in the Leibniz case $c_D=1$. Hence $d_n=n$ and

$$(4.18) d(n) = n! (n = 1, 2, ...).$$



References

- Z. Dudek, Some properties of Wroński in D-R spaces of the type QL, Part I;
 Part II, Demonstratio Math. 0 (1978), 1115-1130; 13 (1980), 987-993.
- [2] D. Przeworska-Rolewicz, A generalization of Wroński theorems, Math. Nach. 85 (1976), 47-55.
- [3] Introduction to Algebraic Analysis and its Applications (in Polish), WNT, Warszawa 1977.
- [4] Shifts and Periodicity for Right Invertible Operators, Research Notes Series 43, Pitman, London 1980.
- [5] Green formula and duality for right invertible operators, Preprint 215, Institute of Mathematics, Polish Academy of Sciences, Warszawa 1980; Ann. Polon. Math. 42(1982), 285-297.
- [6] Concerning Euler-Lagrange equation in algebras with right invertible operators, in: Proceedings of the Conference "Game Theory and Mathematical Economics", Hagen-Boun, October 6-9, 1980, North-Holland Publishing Comp., 1981.
- [7] Pieone identity in non-Leibniz algebras, Demonstratio Math. 15 (1982), 1105-1110.
- [8] On almost Leibniz algebras, Preprint 251, Institute of Mathematics, Polish Academy of Sciences, Warszawa 1981.
- [9] D. Przeworska-Rolewicz and H. von Trotha, Right inverses in D-R algebras with unit, J. Integral Equations 3 (1981), 245-259.
- [10] S. M. Roman and G.-C. Rota, The umbral calculus, Advances in Math. 27 (1978), 95-188.
- [11] G.-C. Rota, Reynolds operators, in: Proceedings of Symposia in Applied Mathematics, XVI, Stochastic Process in Math. Physics and Engineering, AMS, 1964.
- [12] H. von Trotha, Structure properties of D-R spaces, Preprint 102, Institute of Mathematics, Polish Academy of Sciences, Warszawa, 1977, Diss. Math. 184, Warszawa 1981.

INSTITUTE OF MATHEMATICS POLISH ACADEMY OF SCHENCES Sniadeckich 8, 00-950 Warszawa

Received March 9, 1982 (1742)